Enrollment No: Exam Seat No:

C.U. SHAH UNIVERSITY
Winter Examination-2019

Subject Name: Surveying-11
Subject Code: 2TE04SUR1 Branch: Diploma (Civil)

Semester: 4 Date: 13/09/2019 Time: 02:30 To 05:30 Marks: 70
Instructions:

(1) Use of Programmable calculator & any other electronic instrument is prohibited.

(2) Instructions written on main answer book are strictly to be obeyed.

(3) Draw neat diagrams and figures (if necessary) at right places.

(4) Assume suitable data if needed.

Q-1 Attempt the following questions: (14)

a Trigonometric levelling is also called: (1)
a) Indirect levelling b) Differential levelling c) Fly levelling d) Profile
levelling

b  Tacheometer has number of horizontal hairs. 1)
a)2b)3c)4d)5

¢  Which of the following doesn’t represent the classification of the curve? (1)
a) Simple b) Compound c) Complex d) Reverse

d Which unit in total station processes data collected? (@)
a) Data collector b) EDM c) Storage system d) Microprocessor

e Side friction factor is used in which of the following cases? (@)
a) Reverse curve b) Transition curve ¢) Simple curve d) Compound curve

f  How many types of EDM instruments are there based on wavelength? 1)
a)2b)4c)5d)3

g Stadia levelling is a modified form of: (1)
a) Fly levelling b) Differential levelling c) Simple levelling d) Trigonometric
levelling

h A curve which is having a varying radius is called Q)
a) Simple curve b) Compound curve ¢) Transition curve d) Reverse curve

i Which is the latest development in a total station? 1)

a) High resolution b) High accuracy c) Robotic d) Automatic
j  Distance and elevation formulae for fixed hair method assuming line of sight 1)
as horizontal and considering an external focusing type telescope is D = Ks +
C. where K is
a)f/lb)iffc)yf+cd)f-c
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Q-2

Q-3

Q-5

Q-6

Q-7

Q-8

A total station is a combination of:

a) EDM and Theodolite b) Compass and EDM c) Electronic Theodolite and

EDM d) EDM and electronic Compass
Sharpness of the curve can be determined by

a) Chord length b) Radius c) Mid-ordinate d) Tangent
Which of the following is an indirect method of surveying?
a) Chain surveying b) Tacheometry c) Contouring d) All of the mentioned

Which instrument is used in trigonometric levelling?

a) Wye level b) Compass c) Theodolite d) Dumpy level
Attempt any four questions from Q-2 to Q-8

Attempt all questions
Explain the advancement in Total Station technology.
Draw a diagram showing the elements of a Simple circular curve.
Attempt all questions
Explain the basic parameters of the total station.

Describe the uses of trigonometric levelling and write formulas to illustrate

different methods of trigonometric levelling with figure.
Attempt all questions
Write a short note: Tacheometry survey.

From the following data calculate Mid ordinate, Long chord, Length of curve

and Tangent length.

1) Deflection angle 40°

2) Radius of curve 200 m.
Attempt all questions
Describe the precautions taken when using the Total Station.

Write detailed fieldwork for drawing your college campus with Total Station.

Attempt all questions
Explain the methods of tacheometry.
Explain transition curve.
Attempt all questions

Explain the general installation of the Total Station.

Find the relative height of the top of the telephone tower from the following

observations.

Instrument RL reading Angle of RL on BM
station elevation on top
of tower
P 3.55 +15° 0’ 1000 M
Q 1.655 +12° 30’

PQ Distance is 50 m. And P, Q and the tower is in the same bottom.

Attempt all questions

Tacheometer is in middle of line AB, Reading on vertical staff are as below.

| Instrument station

| Vertical angle

| Staff reading
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A +5°42' 1.756, 2.506, 3.256
B +3° 36 0.855, 1.255, 1.655
The device has an analytical lens and its coefficient is 100. If the relative
height of location A is 500.0 meters, find the relative height of location B as

well as the length of AB.

Describe the advantages and disadvantages of Total Station. 7
Attempt the following questions: (14)
AsAQ Q@A g sdaumi WA B: @

a) ssddl Aaldat b) @QAEs 2?5 ¢) et Aal@ol d) Wstsad Aot

esAl{leul wust alnell v B, @)
a)2b) 3c)4d)5

ol Actiell aso] collsel 2% 54 otall? @
a) RQud b) 51UGsS c) slAsy d) Ray

$C Ralotil 52l YAz 32l AsBct 52 B? @
a) 32l sAseR b) EDM ¢) &% @ d) Hiss\ AR

s wyRl URonell Gulol ol Aettmiell sau Bl e 82 )
a) [QUild anis b) AsHQL cnis ¢) U d@is d) A%et dnis

AUl AU F2el YsiRell BIAH Ultell B? @
a)2b)4c)5d) 3

Rl 5201 vle] As ANE@A 23U B: @
a) sl Aalldal b) @QAes Aaldol c) R Aa(@at d) Asle(Q Aal@oal

As aais B QAU Bl URAA B A sdallHl A B @
a) ARA dAis b) Adlgel dnis c) AsHRL dnis d) [Quild anis

5 RAotoll AcflotdH [@Astd s B? @

a) G 3lAlcjalet b) G AsAE c) AARSs d) AulAcd

£Rall Juttal 1] 2Rl el ollal SlsRDL YsiRell 2(ASIUA et Adl, cllnell A @)
UAR ol A(AAAsttl YA D=Ks+C 8 Ul K B

a)f/Ib)i/fc)f+cd)f-c

$CL R ot o] Aol D: @

a) EDM el QRS2 b) U 3lal EDM c) 8As2lels AS\Ase A1al EDM d) EDM ol
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Q-2

Q-3

Q-4

Q-5

Q-6

Q-7

Q-8

a)

b)

a)

b)

a)

b)

a)

b)
a)

b)

b)

a)

B8As2ols sULL

dnisell dlddiadl _ glRL olssl 530 asia ®

a) dRell cateS b) AL ¢) Hrat-ollsall d) 2ugl

ol Aettriell 56 udatglell uRet ugld 82

a) Ais uaal b) 281941 ¢) Slog(Fot d) GeAM A dHIH
AR AA@IHL 5L Ultetell GUADL Ul B?

a) dll A b) W ¢) @AS\cuse d) st Aac

Attempt any four questions from Q-2 to Q-8
Attempt all questions

Aec RAol 25olAHL Gl UHHLA

A0 dNoUsR asell Uesl e2ladl usld €131 Aotl €356l olti vl
Attempt all questions
2l2d Raotoll Yoo AAMleR Ul

Asledla ddaigett Gulall weudl dal AsleMdla ddeatell %€l %€l Al 2usld
€3l sujeu el

Attempt all questions
gsolltl AMl: B R SlotHlUal Uil

olAett 32t UYL 2R, €18l W, as A glsell cloud ol
1) (Quetst Wl 40°
2) ds ofl B 200

Attempt all questions
e ol cuRldl aud Aol vuadl d3eldl aelal.

2l2c Ralot ¥ AUl SlAell Frude] B0l tlatlalall Hize] (3esad (Qoldar dul.
Attempt all questions

ARSIl HiUotoll o€l oel Il UMl

AsHLL cnis UM A

Attempt all questions

2l R 2lolo] UM AU UMl
o{lAetl MaAlsall Ul (A5 2laRell 2ol et Glaues 2.

GUsR0QL Lt dd@a U didetis | alaRell 2lusll daRaell
Graslal wda QU

P 3.55 +15° 0’ 1000 ]_[1

Q 1.655 +12°30°

PQ 312 50 Hl. ® W P, Q &l 2tk As % Gl Ml B

Attempt all questions
2wl AB ofl Hean 28120122 ], Gral ety uR dlicl aiuetisl «1A ywa d.
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RS of Wl Gtel Rl RS dlUatls

A +5°42' 1.756, 2.506, 3.256

B +3°36' 0.855, 1.255, 1.655

GUsRQML Atl(ARS Ao B WA Aoll RIS 100 B. Wlet A ofl WA QAL 500.0 HleR 8l
Al AUt B ol At QA AHY AB ofl coteS e

22 R alotoll $LRAEL Wl ANFLAEL Rl
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